RO008013 Clacker assembly

Assembly details for clacker assembly

@ Difficulty Easy ® Duration 5 minute(s)

Contents

Introduction

Step 1 - M000101 Compression spring

Step 2 - Components

Step 3 - Fit DO008496 Clacker Pins

Step 4 - Position DO008339 Gap Closer Arm
Step 5 - Drivein pin

Step 6 - Centralise pin

Step 7 - Fit stop

Step 8 - Finish

Comments

Introduction

Tools Required

10mm spanner
5mm punch
Ball pein hammer

Parts Required

D0008339 Gap Closer Arm x 1

D0008340 Gap Closer Base x 1

D0008496 Clacker Pins x 1

M0000101 Compression Spring 11 D 15D 25 Long x1
FO000185 M6 x 16 Hexset S/Sx 1

Step 1-M000101 Compression
spring

M0000101 is not required for bench assembly, and will not be
shown within the work instruction.

Ensure this part is issued with each assembled clacker

Page 1/7



https://stuga.dokit.app/wiki/Fichier:R0008013_Clacker_assembly_Screenshot_2023-11-09_081454.png

Step 2 - Components

D0008339 Gap Closer Arm x 1
D0008340 Gap Closer Base x 1
D0008496 Clacker Pins x 1
FO000185 M6 x 16 Hex set S/Sx 1

FO000185

Step 3 - Fit DO008496 Clacker Pins

Use ball pein hammer to locate DO008496 Clacker Pins into
D0008340 Gap Closer Base as shown

Ensure pin does not go past indicated face

Do not drive pin past

Page 2/7


https://stuga.dokit.app/images/thumb/4/4e/R0008013_Clacker_assembly_IMG_6067.JPG/ia-439b0be6095cb62164c0c6ddfa2d3513-1000px-R0008013_Clacker_assembly_IMG_6067.JPG.png
https://stuga.dokit.app/images/thumb/d/d7/R0008013_Clacker_assembly_IMG_6068.JPG/ia-941f729b98775e4fc858bd7450ca47a3-1000px-R0008013_Clacker_assembly_IMG_6068.JPG.png

Step 4 - Position DO0O08339 Gap Closer Arm

Position DO008339 Gap Closer Arm as shown

A ..Itis vital to orientate this part correctly . Note the offset between the arm and base when orientated correctly

Step 5 - Driveinpin

Drive pin through parts until flush with face

Page 3/7


https://stuga.dokit.app/wiki/Fichier:R0008013_Clacker_assembly_IMG_6069.JPG
https://stuga.dokit.app/images/thumb/c/c8/R0008013_Clacker_assembly_IMG_6070.JPG/ia-643a8a0294d75be7498f1c5c3c6dd425-1000px-R0008013_Clacker_assembly_IMG_6070.JPG.png

Page 4/7


https://stuga.dokit.app/images/thumb/b/b4/R0008013_Clacker_assembly_IMG_6071.JPG/ia-b40c35615fb9cd1cd2c0839e0ce1e392-1000px-R0008013_Clacker_assembly_IMG_6071.JPG.png

Step 6 - Centralise pin

Use a 5mm punch and ball pein hammer to centralise pin between the 2 outer faces of DO008340 Gap Closer Base

Step 7 - Fit stop

..FO000185 M6 x 16 Hex set S/S bolt is used as a stop .It is vital that this part is not set any further into the assembly than described
in the steps below

Position assembly as shown
Fit M6 set bolt by hand

Slowly adjust set bolt by winding into the assembly until the shown position is achieved by the base and arm when Head of set bolt contacts
the clacker base

DO NOT SET ANY FURTHER THAN THIS POSITION

Page 5/7


https://stuga.dokit.app/wiki/Fichier:R0008013_Clacker_assembly_IMG_6072.JPG
https://stuga.dokit.app/images/thumb/5/50/R0008013_Clacker_assembly_Screenshot_2023-11-09_082909.png/ia-f5bacb9446dd355d9d898ac910bba04e-1000px-R0008013_Clacker_assembly_Screenshot_2023-11-09_082909.png.png
https://stuga.dokit.app/images/thumb/5/5b/R0008013_Clacker_assembly_clacker_set_bolt.JPG/ia-974145a6e47e22e701eab47200afb107-1000px-R0008013_Clacker_assembly_clacker_set_bolt.JPG.png

Page 6/7


https://stuga.dokit.app/images/thumb/f/fd/R0008013_Clacker_assembly_aligned_clacker.JPG/ia-2bd734ffb7d571ae86508d852139ea81-1000px-R0008013_Clacker_assembly_aligned_clacker.JPG.png

Step 8 - Finish

Check list

Pin centralised
Set bolt adjusted
Clacker arm and base pivots on pin by hand

Page 7/7


https://stuga.dokit.app/wiki/Fichier:R0008013_Clacker_assembly_quality.png
https://stuga.dokit.app/wiki/Fichier:R0008013_Clacker_assembly_IMG_6075.JPG

	R0008013 Clacker assembly
	Contents
	Introduction
	Step 1 - M000101 Compression spring
	Step 2 - Components
	Step 3 - Fit D0008496 Clacker Pins
	Step 4 - Position D0008339 Gap Closer Arm
	Step 5 - Drive in pin
	Step 6 - Centralise pin
	Step 7 - Fit stop
	Step 8 - Finish


